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By the. end of this unit you should be. able to:
Write numbers in standard form and as
ordinary numbers

Order numbers in standard form

0dd/ Subtract with standard from
Muttiply/ Divide with standard form

Use a cakulator with standard form

Negative: O valve below zero

andard Form

Standard (index) Form: O system of writing very big or very small numbers
Commutative: an operation is commutative if changing the order does not change the resutt
Base: The number that gets muttipled by a power
Power: The. exporent — or the number that tels you how many times to use the number in muttiplcation
Exponent: The power — or the number that tels you how many times to use the number in muttiplcation
Indces: The power or the. exporent

amxan=am+n

a!ﬂ+aﬂ=alﬂ‘n

Choose a degree of accuracy so in most cases press 2
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